The first monthly test in (Math 106) for the first semester of 1431

Answer for all the following questions:

The first question: Choose the correct answer to both of the following:                                                 5 
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1) If n is any positive integer, then
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2) For any real number a ,b > 0, then 
a) ln a + ln b                                b) ln a . ln b                                 c) ln a – ln b

3) We define  e  to be that number for which 

a) ln e =0                                     b) ln e = e                                    c) ln e =1
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5) For any integral function f , if   
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The second question:  Evaluate the following integrals                                                                            8 
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 The third question: Compute
         2    
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 The fourth question: Use the Integral Mean value Theorem to estimate the value of   
-------------------------------------------------------------------------------------------------------------

  with n =4                     3 
[image: image20.wmf]1

0

 

xdx

ò

 The fifth question:   Compute the Midpoint rule approximation of  
                                                                                                                                                                                                              (I wish you good luck ()
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